Paper: | B.E_B.Tech

SET: |ltem21
Topic: Mathematics-Section A
Item No: 1
Question
D- 100001
Question
Type: MCQ
a f(D)+f(2)=f(3) @M af3Heemd (functions) f: {1, 2, 3, 4} — {1, 2, 3, 4, 5, 6} -6XR
tion:
uestion OS> agemo -
A: 60
B: 9()
C: 108
D: 126
Topic: Mathematics-Section A
Item No: 2
Question | 100002
Question
Type: MCQ
_ maddjo xt+x3+x2+x+1=0 @)os melesglem o B, vy, d ag®sldd,
Question: .
2021 4 32021 4 2021 1 §2021 o pemes ;
A: -4
B: -1
C: 1
D: 4
Topic: Mathematics-Section A
Item No: 3
Qlfestion 100003
ID:
Question MCQ

Type:




e . 1

neNm S, ={zeC: |z—3+21'|=£} , Ta ={ZEC:|2—2+31 =—}fﬁ@093&('m&.
Question: 4 n

ag)@l@d, wemo {ne N : S, N T =} -6l @DOD BROWETBRINS ag)eNo @e.
A: 0
B: 2
C: 3
D: 4
Topic: Mathematics-Section A
Item No: 4

Question ID: 100004

Question Type: | MCQ

soafle VIS, 6TRUd

3 (sin 30) x—y+z=2
Question: 3 (cos 20) x+4y+3z=3
bx+7y+7z=9

ag) e al@lanondlgjon @@, 6 € (0, 4) - WOS ag)gmo :

A: 6

B: 7

C: 8

D: 0

Topic: Mathematics-Section A
Item No: 5

Question ID: 100005

Question Type: | MCQ

Question: I{]ﬂo (an —n—-1+na+ B) = 0, @O, 8(a+pB) agM® :
A 4
B: —8

C: — 4




D: 8
Topic: Mathematics-Section A
Item No: 6
Question
D: 100006
Question
Type: MCQ
queston: | L= 01 NSEUSWIM a0 f(x) = (12— 2x +7) eldx>—12x2—180x+31) O G:aLal H@AM
| melo o), OO :
A: o= U
B: o= — 3
C: ae(—1,0)
D: d&(—3; —=1]
Topic: Mathematics-Section A
Item No: 7
Question
D: 100007
Question
Type: MCQ
Qo y(x)=ax3+baZ+cx+5 , x-@oee @ P(—2, 0) snflczialldd emos)e@yo
Question: | y-@rdue@® Q enila3alld adleaie®io HoIWIM) ¥ ag(M@ 3 @AM  @RUEEIMOo
(derivative) 3 @@em. ag)m@sl@d, y(x) 6P CRIOEOH@ mosmimo myelio :
A: E
4
B: 2_9h
4
C: E
4
D: 2
2




Topic: Mathematics-Section A

Item No: 8
Question ID: 100008
Question

Type: MCQ

Question: A={x,y) : 22 = y = min {x+2, 4—3x}} - 0fldgnaileam alogjanl:

A ﬂ
8
B: E
6
C: 1_9_
6
D: E
8
Topic: Mathematics-Section A
Item No: 9
Question
D: 100009
Question
T;pe:I McQ
oe®OR) call® quoaly x -Mio [x] agME@ x - GMIS MIAIEMO @O HYOMHEMO
@O OWOM alidemavosy@oem. fagm [—10, 10] seaigwiepas ammal myel)
»3o (real valued function = g8 [x]  [x]egavoal
Question: | P ( L J&) {1 +[x] —x, [x] DogIVOR
2 10
ag)om aildauallofldleamam). ag)sesldd, % f f(x) cos mx dx & mpel o :
~10
A:

oY)
S| = N




Topic: Mathematics-Section A
Item No: 10
Question
D: 100010
Question
Type: MCQ
o 20 — e +9
Qo : y=y(x) 62l 8r) enila3) (x, y) ELOSWIEsS HMmOISILIEW)ES aldlal —5
2+ 9e
Question: 1 - i R ]
. 0, =+ —| , _ o=@
@Y )TN} [ = 2\5] [(x, 5 e ) ag)om MYBOSEILNOS ¢ HSmM)
BaloBIMMeBI@,  e* ag)MM®) :
A 3+42
3-42
N 3 (3+42
J2 (3-42
. 1 (2 +1
V2 (V2 -1
o V2 +1
J2 -1
Topic: Mathematics-Section A
Iltem No: 11
Question
D: 100011
Question
Type: MCQ
Question: | CRQIBSEIM VAo (differential equation) (x —y?)dx +y(5x + ) dy =0 Q)OS ealom)
al@laOoomoe :
x| 2+t=deP 2]
| @ 2t=Cle+ )
C: (2 +x)3 =C (2y? +x)*




2+ 20 =C (242 +2)*
Topic: Mathematics-Section A
Item No: 12
Question
D: 100012
Question
Type: MCQ
aldlal 8@l &)5)®E pas®mo nllazy A4, 3) -BIlOS HSOM) GaldE:)M@mMIW 60}
Questi 86, x —y—2=0 ag)mm cosue® enia3) B - alled elemullennm). cosloslemboe AB @ies
uestion:
mlgo ? @6 MBI, B 96 |S)M™ GoeL@IeN :
A: 2x+y=9
B: 3x—2y=7
C: x+2y==6
D: 2x —3y=3
Topic: Mathematics-Section A
Item No: 13
Question
D: 100013
Question
Type: MCQ
X-@BRSHHOEDWL0, AYEMo 12+ (¥—1)2=1 -6m alj0caWlo MaldUBlEanmMm QYEBEB(I30
Question: | (o, B), B > 0 @O® QEDEWIOM MVERUOBAIOM®IEM L af®:ldd, L oo coel y=4
oo dfldgpalaniom aldiniall® coEElam altqlanl:
A 3242
3
5. 4042
3
C: %




D: el
3
Topic: Mathematics-Section A
Item No: 14
Question
D: 100014
Question
Type: MCQ
¥=3 _ y+4d 2-7 y _z X _ Yy _z
= = m@mfb@mm@a-:-:-,—=—=— ol emd
Question: i 5 =P 9 é E g &8 B 0
| coauetd pBeLNI8M maIETON flomiale OBeqSIM ®meimdem P. d  agimomd
enflag) (2, =5, 11) - @ oflom P oflecisnes @jomoem agi@lad, d2 agoma :
A: 147
2
B: 96
C: E
3
D: 54
Topic: Mathematics-Section A
Item No: 15
Question
D: 100015
Question
Type: MCQ
- = = 5 —
ABC ag)m (®@]@H:06m @@, BC = a, CA=b, AB 2, b| =23 ,
- 5 “
b - ¢ =12 @YBYM),. [IMDIUMBRD alBlNlse)ds.
— —
Question: | (S1) : ‘(a R e | | | =6(242 — 1)

(S2) : Z/ACB = cos ! {\/%]

f) 81 @D




A: (S1) &0 (S2) ®o vadlwoem
B: (S1) @mo(@o o
C: (S2) @o(@®o L
D: (S1) &0 (S2) o e®ROEM
Topic: Mathematics-Section A
Item No: 16
Question
D: 100016
Question
Type: MCQ
allala allmeem@slea mowjo, QY@ @OMo, HAIWYOHS MH®Io WIEMManein)o
Question: | @LADd(@-Mo 24 o 128 Ho @YEM. o)l BEMO EEEN3D AllRWEBW HEMRILOMIER
oW \®),
33
A —_—
232
30
B: —_—
229
o0
C: _—
228
30
D: —_—
22?
Topic: Mathematics-Section A
Item No: 17
Question
D- 100017
Question
Type: MCQ
Questi @O0 MEUTBRIRR GO} OO M6 AU ag)FlETMEQOWD HEMOQS Vo6 ER06M  a
uestion:

80 B 90 )@, x e R, x2>+ax+p > 0- WOS AVOWI® :




A: E
36
B: E
9
C: l
2
D: E
36
Topic: Mathematics-Section A
Item No: 18
Question ID: | 100018
Question
Type: MCQ
Question: —4m < x < 4w @PWIA, |cos x|=sin x - O lBEaOIEBBRIOS ag)eo :
A: 4
B:
C: 8
D: 12
Topic: Mathematics-Section A
Item No: 19
Question
D: 100019
Question
Type: MCQ
8@ dlovalm eeamom@® aldse Q @I PQ agmm saud ailadoenimy. R agyam enilasy,
Questi sUdlem 6nE @IWEMBRIHNM@IE QR =15 m @@em. 6H6A®OMED), snflaz) A @lad o
Hesten 1 g GRIHEYEH COEEHNIEM 60° Wio saUdlem PR @dwo A @ymowf 15° ¢HH06myo
@16 S| af)El@d, saidlen sweo :
A 5(243 +3) m
B: 5(/3+3) m




C: 10(v3 +1) m

D: 10(2/3 +1) m
Topic: Mathematics-Section A
Iltem No: 20

Question ID: 100020

Question Type: | MCQ

Question: @IIBlHNM (A IMVBIUMBE@ ¢s06508le®) ?
A (~p)vq) =p
B: p=(~p) v
C: (~p)vg =q
D: q=(~p)Vv9g
Topic: Mathematics-Section B
ltem No: 21
Question
D: 100021
_?ues.tion Numeric Answer
ype:
2 -1 -1
J3i-1
A=|1 0 -1|,B=A-L @O&M) © = 5 @HWOMD,
_ 1 -1 0

Question:

{ne {1,2,..,100}: A™ + (wB)" = A + B} ag)M DEMETHIER! @ROMETBROS ag)eo

___ @oem.
Topic: Mathematics-Section B
ltem No: 22
Question
D: 100022
Question

Type:

Numeric Answer




‘MANKIND’ ag)(m QO#SIOM @osHu06mag|oo MIWINOQ afg]d (Eamslao

Question: | ag)Pim @0 toladt dilealensiaflearl GRMYL-OEIEE BOIEEE:@)0 6).01QRMM]. ag)w:l@d,
"‘MANKIND’ ag)(m Q0616 (@navo6 @Y6M.
Topic: Mathematics-Section B
Item No: 23
Qtfestion 100023
ID:
1Q_ue§tion Numeric Answer
ype:
415
2 s + L7070 x20 o allayelaenememd, t §@Bee|soEm al36amans
Question: t ’ ’ =
pwdm meljo K @pwoed, 8 K agme) @e.
Topic: Mathematics-Section B
Item No: 24
Ql.festion 100024
ID:
?ues.tion Numeric Answer
ype:
a, b DU a@IRPED M6ME crafl® Vo6 E:a6M. MVAMB:Io x>—8ax +2a=0 - &M
DIEIETEE06M p @0 r Ho. MVAUIBY0 ¥2+12bx+6b=0 - 6f myeIETBEIEM q o s Ho
Question: 1 1 1 1 . .
@@@—, —, —, — s MadmMmo ewemlalenem agssl@, a '-b ! agmMmm
P q 1 S
. @mem.
Topic: Mathematics-Section B
Item No: 25
Ql,.lestion 100025
ID:
_Cr)ues.tion Numeric Answer
ype:
Af)8J0 ag)em® Moy n = 2 Mo a;=b;=1, a,=a, ,+2,b =a +b _, @By}
Question:

15
af@lad, Y. a, by agme @6,
n=1

Topic:

Mathematics-Section B




Item No: 26
Question
D: 100026
Ques.tion Numeric Answer
Type:
‘4x2 — 8y +35|, if 82 —6x + 120
f(x) = @AM, [a] ag)M® HWAM aljBdemavoe)
Question: | 4x% —8x +5|,if 827 —6x +1<0, w
<« f AWlanoMarinild @00 R 6ol eniloyenmes agemo @em.
Topic: Mathematics-Section B
Item No: 27
Question ID: 100027
Question Type: | Numeric Answer
k-1
) n+1
lim % [k + 1) + (nk + 2) + ... + (nk + n)]
Gass et
Question: 1
=33 lim ———" [11‘ £ 2058 4o +nk} @I,
n—oe 1
k @)6s qumdsmal mjeljo (integral value) @Q6M.
Topic: Mathematics-Section B
Item No: 28
Question
D: 100028
_?ues.tion Numeric Answer
ype:
QEmo X2+ 12 —2x+2fy+1=0 Q)OS 6N QUPIVETBROS TVMUIS:EBWD 2px—y =1,
Question: | 2X TPY=4p Qg)OMOEM. af)EHI@, 0D AYEBETIONM CHBETIRROS ESIMIGAIOBMM,
| @oafloueiwo (hyperbola) 3x2—12=3 -@es O®ISIUOES 2Idlal me(0, ®) ag)me
_ @6,
Topic: Mathematics-Section B
Item No: 29
Question

ID:

100029




Question

Numeric Answer

Type:
‘ 5 8 6 ”
(i) alEoGe0g 75x*=64(5y—3) &@ | =, — | agm enflaiafleyoe, (i) y-GrRAUOED®)0
Question: 2 @
O®ISYMN, AYEMETBROS UJOTVETBROS @)bs @o6m.
Topic: Mathematics-Section B
Item No: 30
Question
D: 100030
Question .
Type: Numeric Answer
— -1 x—3 ¥y —5 z—-1
x=2. ¥ =z, =4 = o)l cOEUBDBEISWIED B3106107H @RB:-El0
0 1 1 2 2 1
. u3 2
Question: | @a flex@lenymm a6, P :ax—y—z=0, (a > 0) ag™m malQmoef cos 1{"5] BBH06ND
Oadle-adlemymP - cileeal (1, 1, —5) agm enflogiailend enflosnio (a, B, y) GRWIEI,
a+B—-y___ @pem.
Topic: Physics-Section A
Item No: 31
Question
D: 100031
Question
Type: McQ
@#6o [P, allci@fldenoe [A], mawo [T] ag)rmiala@ @oslruaom @ea0-aowl ag)S;emoe,
Question:
QflrignH My 1EMOBETIOM EEOWODMDaHEME TVMOLODNT) ?
A: [P A~1T9]
B: [PAT 1]
C: [PA1T]
D [PA-IT Y]
Topic: Physics-Section A
Item No: 32
Question ID: | 100032




Question

Type: MCQ

Question: | 0¥ EMIGIHOHMN RB VD @OROHDBEO06M BEO HOUWODMaUNMD BT ?

” (D) “

- OIMoN®® MAEleo \D/ al®eal 21o0ded ewmmiidl

B: OO HOMlo HOUGK® MEMLEIQIo

C: HONG MVI(MBOWI0, @l 21008 VO3B0

D: DRI (Sl H)nloeSMayello, HVABENL0

Topic: Physics-Section A

Item No: 33

Question

D: 100033

Question

Type: MCQ
6303 B A- Dldd afllomio B- @flealds) Ay alom@ileies o @@l @06l ofldlenimaey
Gal06al alo®l. menidlel Bloo 60 m @REEMH:I@, MAOMINDOGTOM aldlmoemo
(magnitude) afHE3Ud0 m @Rdhlo.
(@Idleemn@ : cos135°= —0.7)

Question:

A:

B:

C:

D:

Topic: Physics-Section A

Item No: 34




Question

D: 100034
Question
Type: MCQ
0.5 kg @oquIes 60} AIM®m) emdeoalafeles v=(3x2+4) ms~! agmm (alenEd
Question: | qveI@l o)) aumimialam x=0 - @ almmio x=2 m AUHOWIES MAOMITDOBTIMOWS]
6210® (alalyossl, SI - @eigiad
A 64 ]
B: 60 |
C: 120 ]
D: 128 ]
Topic: Physics-Section A
Item No: 35
Question
D: 100035
Question
Type: MCQ
VORI B0} 2IClenm (ealomle) oinaled wlmio moveomes), M - @00,
R-@@o00ies 80} 6o milallens0lo, 610 CWIgAllo HMIF] MIOY af)@mIEMIOWD,
Question:
adlellenzdle@@io, GUORETIOHM®@I0 EHIMI® @DOYEHIHD @oflalles GMIalo®mo
Qg)MOdhlo ?
A: E
3
B: E
5
C: E
5
D: E
15
Topic: Physics-Section A




Item No: 36

Question

D: 100036

Question

Type: MCQ
100 kg @oqUI88 @M MAOM &HeMldbdb®d A, B, C agamial 80} emdeoalofdd
AB=BC=13 m agymAcloil@d ealofldlenym). @oem aoquas MOoaaemm &enld P-

Question: | @OS AT @PMIBAAQISIM Wil F @@en. AC ag)(m COAIOH® AloenImo],
@eymodd allegdlanym emdcoainia, B - old allonmie 13 dl. @edeci@oem P - agam
el el fldeeimae. F - 60 ojelen@® ?

A 21G

B: 100 G

C: 59 G

D: 42 G

Topic: Physics-Section A

Item No: 37

Question

D: 100037

Question

Type: MCQ
27°C moalilaidiele, 2 x 107 N/m? adaesilaije, V agm alpaimemileymies 8 alomde:o,
6ag)cmoe®mdadd dlEldld aleamiaflal aljoal®oe meglwossl. @ aljoaimo aflemsyo

Question: | 80O AIGIWI@ AO®BH:6@D @oLDeNIoFS: dl@ilwidd oﬂoa:mﬂr“;:ﬂ_:yg. QIO B
@oCLMOMeO®® BdGo ag)® ?
(y=15 ag)eXmnsiae i)

A 3.536 X 10 Pa

B: 3.536 x 10° Pa

C: 1.25 x 10° Pa

D: 1.25x10° Pa

Topic: Physics-Section A

Item No:

38




Question

D: 100038
Question
Type: MCQ

(A)  ®0al(SlEl #0B6EMUOD 630) QLO®E: RO WIAS LDOIURD NDMIEB0B22R0 BLOWIM).

(B) @@Go dhISIEMIOD, 60} AUIDH: @MOMQIOS LOOUG NIEHDLRO B:ISIOM].

(C) alalmo HISHEMIORD, 60) A®E: MBS (OB NBIEHIDDRO E:JOWIOM].
Question:

(D) ®@0oalmilel dh)S3eMIomd QAUO®BEON ndGo BhlSIaM.

(E) @oalailal dssymaiiay @oemimodle] cuomeemilend aljoaimo dlo@ymm;.

@06 ®MIdlenimMai@d mimio LElO® HEMDO BHEENMBEB)I:.
A: (A) @o (D) @io mo@o
B: (A), (B) egmilau®ie (D) @lo mo(@®o
C: (B) @Jo (D) @jo mo®o
D: (A), (B) agmilcu®io (E) @lo mo(@o
Topic: Physics-Section A
Item No: |39
Question
D: 100039
Question
Type: MCQ
k |2m| k k 2k
%-‘””‘l L””%—’””‘l
(A) (B)

Question: 2fl@o (A) @ 2 m" @Oy, ‘m” @oquas alm@ialen ossled aala] o0qflef, m-om k

- Miladfless’ cudleomo pag ®ens M flemsisaimon caislafl o fldenyomy.

2fl®@o (B)- @fl@d ‘m’- aoqflom, ‘k” 2k" agyml amlalles” mudleosem?d oas eene
alalleosimaimow caislaflofldlanim,. (A)-Cleal moqyo, (B)- leal moqyio ‘x'- @oo
Mlesflomd @AIWOS WLNOHOMBE BRAUDEHM Hoelssstd T,-0o T,- o @K@ ag)owy

MWD Bleeio ?




. T_ 3
: T2 \/E
B h_ ;3
T, V2
c L.
T, V3
D: _Ti — _.J_E
T, 3
Topic: Physics-Section A
Item No: 40

%LfeSti°” 100040

Question
Type: MCQ

2 uF dhojomiigadmy’ ©as 603 densadaud 0 C- @b ailomgo 5 C - calds) oauall el olodel
Question: | ©.21Q®). ®26)¢ OMIIAHNMM@I@ aR® (0anoe,, denadmdleal alodeglmmymdlaf

@OEMNY BHIOIOBHVIRE O l0OFMay@ ANGTIWOMeO@ED ElIIBE BoeTileniMmal ?

pJi:] SRR

—> V (x100V)




B
o
= 51
X
B: et
?’2.5--
0
B
o
= B ,
b4 1
C: ol '
:T;" 2.5 I '
0 5— Q(C)
=
o
= 57
X
D: e
1>T“- LT
0 5— QO
Topic: Physics-Section A
Item No: 41
Question
D: 100041
Question
Type: MCQ
B8E0 NDFIECHIADRMIER 0 21002BIBR HMIbdDB B0} afHDOIM  HOW]dh
DEMLAIESIRIOS, BHONTld: MEMULAI@BIIM} £loeNIMOQT HhSMIEaIoMD @MINIA]fldlHem).
Question:
o @RS RO ®aflenas @eMialo®o 6 :5 - Ho MOQYHWD ®anfle|as @mMalo®mo
9: 4 9o @ROMEBBIM, @OCLQIOS 21002)MH0Dd MATILEs @RMIAIIMER® ?
A: 345
B: 5:4




D:
Topic: Physics-Section A
Item No: 42
Question
D: 100042
Question
Type: MCQ
Question: | 630} UM LCR - qud#HeiSlad, @omimoa (resonance) @U@l AUdablafleaymaia’ :
A eI @D aldcallallensmo
B: @RI HOMIARGIEMOS eryeIRicd 6RO HOMIAND E2IdHE) .
C: @ORIOOM haloriigalemos euyeniaicd meH[omy dhalomiigd 6.oIdHe)id.
D: COBYIOM EROYOTS HI0WH6HEMO
Topic: Physics-Section A
ltem No: |43
Question
D: 100043
Question
Type: MCQ
I- Qicones 60} 621Gl caolmie eljeflom , L (L >> 1) alrdigs a6gon Mool
elaflmiggled ealofldlanim). s} alaidhalo BC0 (IMAIATIC Oeamo @LIWOS
B (3683, O- agymM endlazialld moswoed ofldlenimaymosm. (2fi@@sleald catoeel).
mllaneslen myol@d emdasud ag)® ?
L
Question: I
L I 0O ! k
T




52 L

A
wl
2
B: &
24/2 L
L
2
D: K0 L
242 =l
Topic: Physics-Section A
Item No: 44
Question
D: 100044
Question
Type: MCQ
60} M@ GglF Halomigdlanes a9 &henssHmd HO@lom rms melo 6.9 nA
Question: | @M. 0D dhajomiigdlem 230 V- go, 600 rad/s esoemi@ @paljoslwinigs AC
GLTVOBAVIMOWOENTY sl allsymemeslad, eoallom dajomiihgl agy® ?
A: B pF
B: 50 pF
C: 100 pF
D: 200 pF
Topic: Physics-Section A
Item No: 45
Question
D: 100045
Question
Type: MCQ
Question: | @06 ®MIElLEM U@ a@moen vod] ?
A: o6 aadl avalglldd, apgaiie melad 2laialy alloalo, ®@oey alwelq Mloalmoen).




B: 66 (lad] avallgfldd, appallo assled alweaiglo, ®IeY 2l)ia|imoem.
66 and] avalgldd, (@l mroono aalggemasiola almioe clomMaimg myadal
C:
@6 @AM aldenonmdle: (aldflanaimeniimy allew@modo.
D: e6lad] avallg], envenmal avallgllems o aemslomowidlhaio ?
Topic: Physics-Section A
Item No: 46
Question
D: 100046
Question
Type: MCQ
Lo g Q)M BRAICUIBEDMO®H:EMBUW O8a®MI0, BEO HFWIER®IMN0W A, B agm]
UMD IHOGILIIOS (lBHINEBIM] HSHHOMOCUMINIW MWAWo by, t, ag)mlcuoen.
Question: | t,—t;=5%x10" 10 8o, p,, pg gMIU®IOS @EMIAIo®o 1 : 2 Ho @OOEMSIM®,
AUMESOROS &gl (thickness) AIQAl@ ag@® ?
V5 Vg 0GME) (aldh00d@sImy A, B ag)mil cumimisnglenensom eamhm@oen).
A: 510100, m
B: 5x10710 m
c: 15x107 19 m
D: 5x10~10 v M
Topic: Physics-Section A
Item No: 47
Question
D: 100047
Question
Type: MCQ
80} GRIa0MTIG, ®mrow aecdeale 800 nm 988 (ko aldllolea|oRd (ale®myd
NOEHODLVRMIB! GaNdGZ0 EIHE(SIMIHO] alj0ea]siallall. 500 nm ®Oow
Question: | ©OBBLYMIAR (AIHOWD0 HAIEWIUS2fCal0Wd, GaNdEZ0 DRI G(SIMINM al®@OAIW]

NENEHIdDER0 EOOZIOW]. ERIAOETIEM AUASE aneBaumd ag)@® ?

(hc=1230 eV-nm)




A: 1.537 eV

B: 246 eV

C: 0.615 eV

D: 1.23 eV

Topic: Physics-Section A
Item No: 48

Question ID: 100048

Question Type: | MCQ

n-0 o s0dendligled alevrinm eelsesoemlnd @HRe ag)@® ?

Question:
(SloerUBl}dh(tdds) rowonem @RAMA0)
A i)
27r
B: ﬁ
2r
C: E
2
D: m
nh
Topic: Physics-Section A
Item No: 49
Question
D: 100049
Question
Type: MCQ
—
Quest 8y mugloqimy oigie L aodmiglad essamle esoomlcd aldlebnemo 6.algirm
uestion:
EDEIBE (SO B0l HMIORNT ag)nmoeny ?
.%
A - el
lL —_— —_—
L om




B: l_: _ el
L 2m
.._}
C: — _ el
My == —
m
_}
D: - 2el
=
m
Topic: Physics-Section A
Item No: 50
Question
D: 100050
Question
Type: MCQ
@idlenym MdHISI, A-ilecalcw, B Qlealc®d £aloegMaty@ 5V @RdemIond, @
calofI(Bloal crogdld mieljo A=1 @eR®ldd B=1 @odhim). @omicalossl , A -Qflaeriewo
B - @lleeic®d 6)nloegMhati@d allR\MOHIEMIOND, @D Galowernl erlnzdld: mleljo A=0
@eL)@l@ B=0 @odimM]. mudHsiglon 1o esenlld ap@modidlenio ?
Question: D,
A
6 4
D)
B R
5V
= V=0
A

o = o %
_ = o © o
_ o o o




A B Y
0 0 0
B 1 0 1
0 i 1
1 1 1
A B Y
0 0 0
C: 1 0 0
0 1 0
1 1 0
A B Y
0 0 3
D: 1 0 1
0 1 1
1 i1 0
Topic: Physics-Section B
Item No: 51
auestion 1 409051
Torestion - Numeric Answer
150 km/h eoUM@m@I@ qver@l.ofloimm &oy &b EEnlds) Eoadmrmlen o 27 dlgd #es
Question: | querIE] 2] @MY dUoado WA, @OE® HOd EDEIOE® CAUNWIOHS MIMMIIHRIT
CUMMDIILI06M BalodhiMEX® el @ m MerIdl o ailm’ CLoaymOdio TIEdHE)Ib.
Topic: Physics-Section B
Item No: 52
Question 100052
Question

Type:

Numeric Answer




cvmellmocimunaielldanimm P - agymm calodfa@ldd, ofl@esilad @arildenim caloseel

moel enielemsi (alaudomlenimmy. F,, F, agoml enleemspdsslseloa @mialomo

1: x @oeeMmsl@d, x= @R6eN).
Question:
Topic: Physics-Section B
Item No: o3
Question
D: 100053
Que§ti0n Numeric Answer
Type:
L- dlgalje r-eooeames 6o} d segom ©0qallall ealafldleniom). oo neg
@RO® F ag)im enltlo, 6HOSIoMEa|old @oele mlige 5 cm adavlall. GRE®
Question:
QUMI®OBH06NE HENBOHET @Yo 4L- Aflemaamio 4r- EROMIER®IMOQ AUQAlOM 4F agom
enlelo oo alelloll. alwdle alarmilmiensodym aldavmal cm @Ren).
Topic: Physics-Section B
Item No: |54
Question
D: 100054
?ues.tion Numeric Answer
ype:
aeymie aaerilengs, enom, eimi agamiaiees ao) eemi- eagefles miSlaf
Oalewoddl af, ®oalmlalds @mMGlal Mlgo @OOIE™ 20 cm HES B0} MO @
1@ ool o f1Blee3 3. MIgeTBHD ®mM1AER Al®IOMo MI00E™ ©l®elaoem” 6060
Question:
dHemioemlei@io Mlgo MmO, EIomilem mlgo 40 cm @@eeM®I@, spoymiled dlao
cm @Y d:Jo.
(Qiron=12%107°> K1 and oy, =1.8x107°> K1),
Topic: Physics-Section B

Iltem No:

55




Question

D: 100055

_I(?;pees:tion Numeric Answer
630 (M@lBUM 630) 66 MBEIEIEY HJMIM eéMen 18 km/h cclvmEIEd TilstEimy. @@,
@e@oRes allorlees &o) emodmqilcd adlrmies wmliBo,e@aie emdlgie allils’ earilad
aflemngo (@lwiafle) alojemiogio estdanim;. e(modmqildd alomie alem wmicosilen

Question:
@Y 640 Hz 9o, tesniaemilen cuomyaleal ¢am® 320 m/s @oeemssl@d, asldlexdantd
GHURDHOI 6N} LENIREIBRINS EROYEHD maileles enfly @oal)Es) Hz
@O dle6lo.

Topic: Physics-Section B

ltem No: | 56

Question

D: 100056

_(I?;pees:tion Numeric Answer
6 m @YONES B0 CWIREMIOM Aoalm oloded momm 2 pC/cm?® @em. cnogmmlon
80} @Ml el aflmeldspesild aflomio aoEm AEIM eMILl CERIMGIINS ag)emo

Question:

Hesten %1010 NC~! @pen’.

(el eaiddlglalgl €,=8.85x10712 C2 N~ —m~2 agyom’ maridlesniomy.)

Topic: Physics-Section B

Item No: o7

Question ID: | 100057

Question Type: | Numeric Answer




@midlenim 2fl@emldd V - 6@ olelo V @6
2V

1k
i AR
4V
1k
Question: I NN
oV 1kQ
| AW :
Vo
Topic: Physics-Section B
ltem No: |58
Question
D: 100058
Question ,
Type: Numeric Answer
[- algalie d- aljocvaimes 8 eolmi AUOIHhd adMmemod] ¢aldem eo) R-
Question: | ©OMIIERMMY HER GHOGMUIMIG alorido Mldanlafldleniomy. 21 Miamaes 6o} e.olml
aldlay @em HOaSlgMdmy pesmsssldd @oailend alomo d @ERwidlesio.
Topic: Physics-Section B
Item No: 59
Question
D: 100059
?ues.tion Numeric Answer
ype:
alweld LED (mnomeeadealjo 4000 A) 961046000 9ale@oudlaninm @odw olopldsmens
Question: | D@22 eI Y] eV @em. (6@OSSIOm aljdemnavoswiiealss) Ovens
6000 601Q)idh.)
Topic: Physics-Section B
Item No: |60
Question | 450060

ID:




Question .
Type: Numeric Answer
6.03 Aldtio RMMVCEUON HWDOHHISE 2] NoG(IMhHEMo MSEMIM @RCUWMOD 60} Sl ll
Question: | GRM@IM®IOS o h @M. (VEKRE BM MOME® 100 Oald &Hleaalgd Mid|Olo,
clilwies @ 6400 Hleenalnnie @eEMEsIEd, h- 6 melo alQcsd @en.
Topic: Chemistry-Section A
Item No: 61
Question
D: 100061
Question
Type: MCQ
SO,Cl, @uilamas 2eialimoe alaldetiallejealod @og digylmo eidla).
SO,Cl, +2H,0 — H,S0, +2HCI
Question: | pidlg) @og alw®eo® alidepamowio Mldaflaymoseod NaOH o 16 cmogidhcd
@ROUMRYDOE, BOETBOHNMRIWIMW OaleWouile] SO,Cl, CRO/IHRIOS ag)fMo
GRS @6
A: 16
B: 8
C: 4
D: 2
Topic: Chemistry-Section A
Item No: 62
Question ID: | 100062
Question
Type: MCQ
Question: MOOPBE HJ06NB0 MMUOIHEIOS LEMETREIE @RMIAIBTIALEME af®) ?
A: n=31=2 m1=[],s=+5
B:

n=31=2, m=-2,s=+ 5




C: 1
: n=3,1=3, m=-3, s=— >
D: 1
: n=3,1=0, m=0,s=— 75
2
Topic: Chemistry-Section A
Item No: 63
Question
D: 100063
Question
Type: MCQ
05 mL L™ ! to0m®ies canodalls: @ogy elo@mlwiens euoommsaensom ¢ioal 0.0405°C
@eeemmm Mldledle.ol). canoddls @l ao® 1.05 g mL~! @wem. canoddle:
Question:
@0 LOWAWIHS QAOM GaNdald *LISHo @6 .
(k=186 k kg mol ~1)
A: 0.8
B: 1.1
C: 1.9
D: 2.4
Topic: Chemistry-Section A
Item No: 64
Question
D: 100064
Question
Type: McQ
20 mL 0.1 M NH,OH, 40 mL 0.05 M HE m}g,momﬂ ﬁ:ﬁo&@&lfﬁ(ﬁmﬂ. &N Dﬂ@@(ﬁ\'ﬁﬂ@f@ pH
@pem .
Question:
(@rildseyma : Ky (NH,OH) =1 x 105, log 2 = 0.30, log 3 = 0.48, log 5 = 0.69, log 7 = 0.84,
log 11 = 1.04)
A: 3.2
B: 4.2
C: 5.2




D: b2
Topic: Chemistry-Section A
Item No: 65
Question ID: | 100065
Questi
T;pees ion MCQ
eflg)’ I oo aflgy II o @ormaAe 6).01Q)idb.
ey -1 ey - II
(A)  Ny(g) +3H,(g) — 2NH;(g) 0 Cu
Question: (B) CO(g)+3H,(g) — CHy(g) + H,O(g) (II) Cu/ZnO —Cr,O4
(C) CO(g)+H,(g) = HCHO(g) (III) Fe,O,+K,0+ALO,
(D) CO(g) +2H,(g) — CH,OH(g) V) Ni
®06)9 @MIIldleeM 60alatmMieal@d Mlomio AIWOIW OO @IVEETTMSIEE) k.
A (A) - (1), (B) - (IV), (©) - (I), (D) - (1II)
B: (A) - (D), (B) - (I), (©) - (IV), (D) - (1II)
C: (A) - (1), (B) - (IV), (©) - (1), (D) - (1)
D: (A) - (L), (B) - (@), (©) - @V), (D) - ()
Topic: Chemistry-Section A
ltem No: |66
Question | 100066
Questi
T;pees: on MCQ
Questi n10a0y elkesosm aflmyomo [Rn] 5f146d17s? epwigies en mieisomileng IUPAC
uestion:
MODH-O6Mo @6 :
A: Unnilbium
B: Unnilunium
C: Unnilquadium
D: Unniltrium




Topic:

Chemistry-Section A

Item No: 67
Question
D: 100067
Question
Type: MCQ
Ghoa|0leM ealdaldlenelld (extraction) qUoUY @O BYOIOHHOQSIMM OISO
(Mo BMETBM)
(A) CaO
Question: (B) FeO
(©) ALO;
(D) ZnO
(E) NiO
A: (C) @yo (D) @io mo®o
B: (A) @lo (B) @jo (E) @io mo@o
C: (A) @0 (B) @jo mo®o
D: (B) mo®o
Topic: Chemistry-Section A
Item No: 68
Question
D: 100068
Question
Type: MCQ
@oQ MOWIDESI@® H,O0, alleom ©alog00io §ald@mootEMMmOas (alald®dmmo
Question:
(1 WOMMOW)o oM olalleoemarsiiealds maleanimmy.
A: Mn2+
B: Mn4+
C: Mn3+
D: Mn6+
Topic: Chemistry-Section A

Iltem No:

69




Question ID: | 100069
Question
Type: MCQ
Question: | @O@IHHA] CLIDAOETBRIOS MOMBBOWIOS VAWOW (Bhdo BIOEETTMSIHEds.
A: Li<K<Na<Rb<Cs
B: Li<Na<K<Rb<Cs
c: Cs<Rb< K< Nac<Li
D: Li<Na<K<Cs<Rb
Topic: Chemistry-Section A
ltem No: |70
Question
D: 100070
Question
Type: MCQ
®OOYQIES (alUdEDHME@TIE dlalo OHISRI™ O®alMo ‘B’ @flaas eeruocooenlay
21088 ceIsm (geometry) @Q6M.
Question:
BF; + NaH — 20K , A | NaF
A + NMe; - B
A: gJomodd
B: 6)S(S0a0 (WD
C: aflodlaw@d
D: M@ g Jomad
Topic: Chemistry-Section A
Item No: 71
Question
D: 100071
Question
Type: MCQ
aleruoalmzo @WldhmIBs qQGIMNIMo@es (@M EW@ iltmio @lalo OBHOSEIMM
Question:
EDMBAO0LIERMD MVOWIBMO @RS :




A: mmm@mamammag"
B: a0 @Elg’

C: e)aldano cely

D: a0 s}mag"

Topic: Chemistry-Section A

Item No: 72

Question ID: 100072

Question Type: | MCQ

Question: GaN0E506)BMlHOE MIEmoUid @ossrEllSejommm) :
A NO
D: HCHO
Topic: Chemistry-Section A
Item No: 73
Question
D: 100073
Question
Type: MCQ
60} Mo@dmo ‘A’ ‘X’ mOWo Y @mo®o (el 860 Miely H@altmalio Q@ITI®
9ol OBaIMETBROW ‘a’ @lo ‘b’ @io HAEaIElafldnimy. ‘a” H6) BoHIEldhoemo MSIMOT
OOIMBRD O aloGlaflenim o) UMy HlgInMy.
s G
Lﬁ a+O0=C-CH;—C—-CHj
Question: CH; CH, |
| | CHs
H,C=C—-CH;—-C—-CHj
| CH, CHj
oD “A” —yb+O—C—CH2—(|2—CH3
CHj
X" 0 Y’ 9o WLNo(dhMo




A KMnO,/H* &0 emdala] KMnO,, 273 K
B: KMnO, (emdafloj®@) 273 K o KMnO,/H*
c KMnO,/H* 9o 05, H,0/Zn
D: 0,, H,0/Zn 80 KMnO,/H*
Topic: Chemistry-Section A
Item No: 74
Question ID: | 100074
Questi
T;pees: on MCQ
MY QIER (IUBEHM@TOM aRRio MdlomWIEs H@alMMmOeN) :
OH
Question: (i) HyC @— S0,Cl, afi@lauslod
(ii) NaCN, DMF
CN
A: J\(
CN
B: \_)\
/




(i) DIBAL-H

C:
CN

D: /\//

Topic: Chemistry-Section A

Item No: 75

Question

D- 100075
Question
Type: MCQ
Question: @dlenymM oan_2idyemBeldd (condition) @069@ES (ICLAGHMEBE@ afe®OMMO6Ny

vestion: auenimieshled@io H@aIMETBRIOSWIe VBIWOIW BHISHED) @mmmgjsgmomaﬁ’ ?
A:

Pd. 13.-5150_,_1

B: : : / /O/L

(ii) HyO




CO,CyH5
C:
(i) AlH(iso Bu), H
>
(i) H,0
O
D: OH . H
(I) NEIECI'EO? y
(i) HySO,, H,0
Topic: Chemistry-Section A
ltem No: |76
Question
D: 100076
Question
Type: MCQ
630} HodenleNild: Mo@IAMADO® ‘A’ @OCMI6MIQWIMOW (alB@H#IBD®I0 @SAATY
21)S086)IH®I0 6).2IQYIEMUOB Mo®ismo ‘B” ®maimm). onm aflenslo tosml@on
Questi 2 1)SOB6)IBMUIORD Mo@dmo ‘C” #lgiMy (CgHNO,) Mo@ismo ‘C’ aglaemosls KOH
ueston:
DOW}o, @YBEOSNH@ EHIHHOUIMOWIo, ADBLHLNWIMIWIas 2elnfleggaremmowio
eUIMI@OW (alUdEmMETBEIM apdeals 60} eelad] @eald moiM]. Mowismo ‘A’
@Y.
CHO
A
CHO
CHO
B:

COOH




COOH

C:
COOH
CHO
D:
OH
Topic: Chemistry-Section A
Item No: 4
Question ID: | 100077
Quest
T;pees on MCQ
Question: LA GaIdElMOIBM HMBOBHIME) E0D BHENBIMENVAUM MmIBIMO6N):
H,oN N NH
2 Y \"/ 2
A N\rN + HCHO
NH,
H,N NH
B: NTN + HCHO
NH,
H,oN NH,
+ HCHO
C:




NH,
=z
N N + HCHO
NH,

Topic: Chemistry-Section A
Item No: 78
Question
D: 100078
Question
Type: MCQ

BI0gIMIBHRIOS WIMO 230N @O MEEEI G MOOYWIas *LISMEEI@ oo
Question:

@Remals] MladaeynMm ?
A: 66l a0
B: &) TOHE RO
C: 6)SayCS]
D: Bodegdemd]
Topic: Chemistry-Section A
Item No: 79
Question
D: 100079
Question
Type: MCQ

(1 @(@0ad] NOMEEDHE) NIMUlHeH@Io @REO 0RO WBNEBHR MSWIHWI0
Question:

BISOO® MVEMBUNETRWD MSWIHWIo HAIQYIMM BVaxwenes Alldlenme) :
A: @DEUOEITSI TN B0
B: @0BOGUOETS I )0
c: @OGEI 0N HE) D
D: @R[ aclqualailanideod




Topic: Chemistry-Section A
Item No: |80
Question
D: 100080
Question
Type: MCQ
®06% MMIBlEHIMN@ AANE (I MIBDOCLMBRIEN).
(advmoadm I': KHSO, ¢21@@® 21Jso46iequoid @lmuenowd 8ealvoo Marseaqa|s
@e(@0elld @pimonimy,
Question: | (almi@mocum II : @G (HOEM alP6malesSE GallRes MEMMOET, &JSOOm @)
@lveooglo@  cvomilwje  @CIOMIEs  al@ldHdemaerleljo
B lEWOUIlHOIM),.
OO B0alaHt @5l ETMSIHE) ).
A: (omocm I o (adrimocum I o vodloen
B: (aImimolm I o (almimocum II oo vodlg)
C: (aImimoaUm I vddl@oem ag)momd (almimonim II vumlwg)
D: (aIimoUm I vdl@g) agmMoad (almi@ocum II vodl@oer)
Topic: Chemistry-Section B
Item No: 81
Question ID: | 100081
Ques.tion Numeric Answer
Type:
®06)vW8s riafladlor el @d
Question: N, N+, N, 7, sz—, Oy O, 0,7, 0,7~
W®OROUIMElMo &0eMlenm Miafladlruisaies agemo @en).
Topic: Chemistry-Section B
Item No: 82
Question
D: 100082
_?;pees:tion Numeric Answer




298 K @ 6)(aloGalid,. ([066)ang, H6OWNaOIRM MI@LI0WOIMINS &AIM af)MLNo@dal

@LOo(h@ooo —2220.0 k] mol ™1, —393.5 k] mol~?}, —285.8 k] mol~! ag)arilsmemwoany.

Question: | ®laloca]dle@ (C3Hg) oialleoem ag)@duoddallwes aldlmoemo k] mol !
@6,
(@RsIE™ alidernavoal)

Topic: Chemistry-Section B

Item No: 83

Question

D: 100083

?ues.tion Numeric Answer

ype:

27°C @ 80 MMETHT QLO®BHED6NM adGo 4 atm @M. @E® ®IalMlaIR]@d alo@@Ten

Question: | QUyoai@il EDESIOBES. MMETH ALOBB@IOM o @I BdG0 x10~1 atm @em’
(@aildleaima : 27°C @ @aiilen enloadalndgoe 0.4 atm @sen.)

Topic: Chemistry-Section B

Item No: 84

Question

D: 100084

_I(?ues.tim Numeric Answer

ype:
298 K @ Zn|Zn2*(aq)||Sn**| Sn &M@ 6&q0@ ealogMayy@d 0.801 V @@em. D
ludemmoflon ademm miallmomo (reaction quotient) 1072 @oem. mMilgias

Bldh (SO HAIHO@ HAV@ (alUDFDN OB & D6 Bldh G(SO6MIHRLOS o

Question: | & . L wea|3 & ( JH @IS ag)elp
__  @oem.
mldleamnmae EC = —0. ? =+0. dmsoem ZO0RT _
( 3 B vizn = ~ 0763V, Bg g = +0.008YV, &y - 0.06 V)

Topic: Chemistry-Section B

Iltem No: 85

Question

D: 100085

Question

Type:

Numeric Answer




@560 Q0@ BdGo 500 Torr ERIOMEQ 0D 0} QO MOWIBMROW ‘A’ WIOS

afleaism@milon @AARLIITY 240 s HNVHOHM ERVIEM,. adGo 250 Torr EPWER]OWRD

Question:
@EAALOWIQY 4.0 AlMISM EREHMM HOMEW]. OV (AUBCHMETIOHM BB
@oem. (al)demproosly)
Topic: Chemistry-Section B
Item No: 86
Question
D: 100086
Question ,
Type: Numeric Answer
MOOYWIAE GLI0AO MVELIAIETROS alBlueTieaid:.
[Co(NHg)el>*
[CoCL(NH,)]**
[CD(CN)6]3_
Question: [Co(NH,)s(H,O)] 3+
BHIOEMT MW OORHLNOTIE (oo @RUIIeMo 6)2IQRMM MVsLIOTleN miallod
@o@o aldlweriojigs mouimgls: Hmaglan mielo B.M. @oen).
(@RSIE™® aliderpavosly)
Topic: Chemistry-Section B
Item No: 87
Question
D: 100087
Question ,
Type: Numeric Answer
Co3*, Ti?*, V2F, Cr2* eljo #sl, aflajo &ioemm @rg@slad mlmmie eean(awesdd
Question: | M@ ODDOHHOMD HFWOED aldldudhodio (Reagent) Miaflid mo@o aldlmenilojas
@ouImEles HMODMPHM mialo B.M. @em. (@os3em alidemn mosy)
Topic: Chemistry-Section B
ltem No: |88
Question
D: 100088
Question

Type:

Numeric Answer




LAWY BlEil (a0 60} HodenlaTids MowsMmEDaISaslw nHeamESzam @oans

RN, MosmEDlan 0.25 g (odlad ailomio al0@mUIEM @RCEIENI®

Question:
2 M H,50, 6@ 2.5 mL 6m 0ldQfloymossl. 00 dodenienld mo@ism @silaiseslo
OOM(SLOM LVBMOMo @D6).
Topic: Chemistry-Section B
Item No: 89
Question
D 100089
Question ,
Type: Numeric Answer
a o6 gl @gioem C,HN @ a8 sp® oeao@Enioawmiay’ $0demnlemisales ag)emo
uestion:
__ @em.
Topic: Chemistry-Section B
Item No: 90
Qlfestion 100090
ID:
?ues.tion Numeric Answer
ype:
@I HOIM (e lUDEHMN S
H;5C
’ W
C-OEt =
O Et X
ion: D6y O®alimo
Question: CEl;— (”: T

O
(Et agyma —C,Hs)
O®almo A flelgs 66 E:00Ed Hodenuemlon |/ HoderIMIdbRIOS ag)eno
@6,




